7.50

(2) BAND & BUCKLES
304 SS (BANDS)
316 SS (BUCKLES)

CLAMP SADDLE
CAST 356 ALUMINUM

PATTERN ADAPTER

(2) 5/16"- 18 U-BOLT

(4) 5/16" FLAT WASHER
(4) 5/16" LOCK WASHER
(4) 5/16" HEX NUT

(2) 3/8-16 BOLT
(2) 3/8 FLAT WASHER
(2) 3/8 SPLIT LOCK WASHER

(2) 3/8-16 BOLT

PART NUMBER

$5-SB29-SQT
BAND LENGTH MAST ARM DIA.
29 3'-7 BAND LENGTH
42” 7|| _ '| ‘Ill
o -2 i R '
70" 18"-21" PROPERTY_OF SKYBRACKET. ANY Nk
PTHOUT T WRITER: PERMISSION MALST WM MOUNTING B3 HDWARE
OF SKYBRACKET IS PROHIBITED. TTLE
APPROVALS BY DATE
DRAWN | TRC 11/6/23 KIT, SQCLT XEAEPBAND
NOTES:
1. STAINLESS STEEL FASTENERS SALES SZE | DWG. NO. REV.
ENGINEERING A SS-SBQ9-SQT A
DO NOT SCALE DRAWING SCALE: NTSlCAD FILE: 55-5829-5QT |SHEET 10F1




	Sheet1
	Drawing View2


